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LC 2017: PAPER 2

QUESTION 4 (25 MARKS)
Question 4 (a)

A(0, 0), B(6-5, 0), C(10, 7)
S +Y +2gx+2f+c=0

A(0, 0) €5:(0)° +(0)* +2g(0)+2f(0)+c=0=c=0
B(6-5, 0) € 5:(6-5)> +(0)* +22(6-5) + 2 £(0) +(0) = 0

(6-5)> +22(6-5)=0
(6-5)+2g =0

1
g=-1

Equation of a circle:
X+ Y +2gx+2f+c=0
Centre =(—g, — f)

r:\/g2+f2—c

C(10, 7) € 5: (10) +(7)* +2(=1)(10) + 2./ (7) +(0) = 0
100+49—65+14 £ =0

14f=-84= f=—6

517+ +2(-x+2(=6)y +(0) =0

X'+’ —%x—lZy:O
2x* +2y* —13x—24y =0

Question 4 (b)

1+ mm,
A(0, 0)

A(0, 0), B(6-5, 0), C(10, 7)
Slope of BC: m, = 70 =L=2

10-6-5 3.5
Slope of AC: m, _ 107

10-0 10

1

tanf =|—19 = 9 =28-44°

B(6°5, 0)

C(10, 7)



